JAGRAN

2 Josh

your guide to success

WWW.JAGRANJOSH.COM




ORIENTAL BANK OF COMMERCE CLERK EXAM (Numerical Ability)SOLVED QUESTION PAPER 2011

JAGRAN

£ Josh
Directions—(Q. 1-25) What 9. {460+ 30 - (12/%=(7)’ 18, ss :-H% . 1$+:;=?
should come in place of the question (A) 92 (B) —9° .
mark (?) in the following questians ? () 9 (D) 81 (A) E?Si B) 26,
{, 1521 +3x 12=7 (E) None of these 5 4
() 275 (D) 26
Uy 1eh (8) 1:: 10. 5673 +32:88+ 4523 =7 . Nm o )
(C) 167 l (D) (A) 13084 (B) 13484 [ ]. B
(E) None of these (C) 14084 (D) 14484 19, V5% x 724 12827
2 672:24x18+163-345=7 (E) None of these (A) 37 (B) 35
(A) 318 (B) 324 11, 62 x 259 625 = (51" (C) 38 (D) 24
(C) 314 (0) 308 (E) None of these
; (A 1 (B) 10
{E) None of these
() 13 (D) 12 20. 35% of 180— 49 =7
3, 301‘ 26% of 850 =7 (E) None of these (A} 62 (B) 55
. D) 67
(A) 16575  (B) 16035 2, 82 ¥ 255 +5- 1116 =7 {r‘é: z';neu“he{m’
(C) 16375 (D) 16775 (A} 148 (B) 147 954
(E) None of these (G) 159 (D) 157 Ry g Teey 15:212(:-111 =
4 144:8:7=9 (E} None af these (A) 32773  (B) 37229
(A) 3 ) 2 13, (5=1f=7-2/5 (C) 33772 (D) 34773
4 D) & .
(EE:]' : fmal: ) i B) 64206 (E) None of these
b ©) 85  (D)6-2/5 22 (343-103)+(216+36)=7
5. 7% of 590 - 11-8 = 236 5 N' . (A 30 (B) 40
() 48 (B) 45 s ©) 32 (D) 42
(C) 42 (D) 41 1 %' 1?2 x? : ;= 2500 (E) MNone of these |
(E) Naone of these A 14000 (B) 13000 23, (0:027)2 x (0:08)° = (0-3)° = (0-3)
6. (8)%%of ?=723 445 (A) 3 (8 2
(C) 12000 (D) 11000
B) 1400 (C) 8 (D) &
A, 120 © (E) None of these £ None of Ihesa
1111 by s 441 +223-112=7 iRt
(E) Nane of these M Sepeniib s 24. /961 + /784 +1/49=7
o T s A B (B) 67
7. 5554 -333+45="7+25258 () 226 (D) 266 EEI“: - (D] 66
(A) 2174 (B) 2417 (E) None of these (E} None of these
G D) 16, 168+14+3=1 25, 359% of 740 - 35% of 520 = 7
(E) None of thege (A) 5 (B) 4 (A) 78 (8) 71
{ ot (c) 2 (D) 6 (€) 75 v
B. 34 +25+65=7 (E} None of these (E) None of these
L 0] A _o 26, Whal is the value of three-fourif
(A) 18,  (B) 1145 17. 8999 — 3434 - 2525 + 1313 = 1 of ity per cent o 4807
q ' (A) 3535 (B) 5383 (A) 216 (B) 218
(€ 12, (D) 155, (C) 5335 (D) 3553 (c) 212 (D) 214
(E} None of these (E) Nane of these (E) None of these
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31.

A

a3

The heignt of 5 boys is recorded
as 148 cm, 1564 cm, 164 cm, 148
cm and 158 cm. What is the ave-
rage height ol &l these boys ¢
(A) 152cm (B 1580m

(G) 136cm (D) 1Is4om

(Fy Nona nl these

. Pravin purchasad 25 kg of rice at

tha rate of 45 per kg and 12 kg
of pulsce at the rate of T 28 por
kg. Whal is the tofal amount that
he paid 1o the shopkeapar 7

Ay T1488 (B) T1418

(C) T 1461 {0y T140

{E) Mona ol thase

. If one man or three women or five

boys ecan doa piece of work in 48
davs then how mary days will
one marn, ane woman and one
how tngethaer lake tn complate
the sama picce of worl 7

{A) 30days (B) 32 days

{C) 35-days: (D) 40 daye

(E} MNon2 o thase

The perimeler ol a reclangle is

60 cm and its breacdih i5 12 om,
What iz the area afthe rectanglz 7

(A) 261cm?® (B 283cm?
(C) #1acm?® (D) 216em?
(E) Mo o lhase

The speed cf a fruck is 3 rd the
speed of a frain, The train covers
1230 kmin 5 howrs. What is the
speed of the truck ?

[A) 85 kmhr (B B2 kmihr

(C) 81 kimvtr (D) 87 ki

[E} Mone of thaze

What aparoximate valise shouled
some in place ol the question
etk (73 0 the following gues-
fior 7 [You are nol expecied to

ralculate the axact value)

Yad3 =7
A) 13 (B) 38
iC) 58 (o 78
E) 98

Rina's mnnthly incomea is 90% of
Ania’s mantaly incorre. The total
of both their montnly INcomes s

Mr. Sen's monthly incoma.
Mr. Gen's apnual Income is
T775200, What is Bina's

manthly ncome ?

34,

35.

3.

7.

38,

a8,

(In same cases annual income is
dsked and in somea cases
manthly income is askea)

(A} T34.000 (B) Ta6,000

{C) T30.800 (D) T50,000

{E] Mone of these

A traln crossed a platiorm In 43
second. The lenath of the train is
170 matre. What is the speed of
the trair 7

(A} 233 km/hr

{E) 243 km/hr

(C) 265 km/hr

{0y Zanot be determ noad

(E} None of these

If & rurrber is mulliplied by three-
fourty of itself, the value thus
obtamed |z 10800. What is that

numbar 7

(A} 210 (8) 183
{Cy 120 {0} 162
(E) 140

If the three-fourth o a number s
aubtractad from the nemhber: thie
value 50 obtained is 163. What is
that number 7

(A 525 (B) 582

() 632 {0y 652

(E} Mong of theese

Whal will be the compaound
neresl  acciued on oa swm of

T 35000 al the rate of 8 p.cpa
in2 vears ?

(A) THHEBG (B) T52H4

(C) #5524 (D) TE428

(E} MWong of these

It & raquired 10 get 40% marks 10
pass  an exam. A candidate
scored 200 marks and ‘ailed by 8
marks. What were e maximum
marks of that sxam *

(A) 830

(R) 540

{C)y 502

(D) Cannct be datermined
(E) HNone uf hese

The sumof five consecutive num-
bers is 180. What is the sum of
thelargest and the smallest num-
besr 7

(&) TH By *7
(C) 76 (& 73
(E) HMone of these

40,

41,

42,

The area of a squere s wice he
area of a circle. The area of the
circle s 892 cm® Whet s the
Iength of the side ¢f the square 7
(a) 23 cm (B] 26cm

() 24 cm (D 22 cm

(E} Mone of these

Suchil rung four kilometre avery
day. On Salurday and Sunday e
uns one kllometre exira [on each
day). How many kiometres does
he minin 2 wesks

(A) 40 km (B) B0 km

{Z) 50 km (0 70 km

(E) Mone ofthese

The angles in & triangle are In a
ratio of 19 : 1D 7. Whatis the
sum of twice the smallest angle
and the largest angle ?

A 1657 (Bl 185°

(G) 155° o s

{E) None of these

. In row many diffe-ent ways can

the lettars of the word “TABLE'
be arrangsd 7

(A) 360 (B) 720

{C) &0 (D) 180

{E) Mone of these

Directions—(Q. 4=—43) Wial will

come in place of the question mark (7)
in the folowing series 7

44,

4E.

A7,

3, 4,13, 38, 37, 7

A 178 (B) 108
{C) 158 (D} 186
(E) Mone of theae

160, 148, 144, 136, 120, 7
(A) B4 (B) 86
(C) b (D] 83
[E} Mone of these
11,16, 26,41, 61, 7

A} BB (B} 72
ey 78 (O] 86

[E} Mene of thosa

Yaetarday, a man coverad a die-
{arwe of 380 km 0 8 hoors by &
car. Today ‘he travelled aft a

spesd ; iimas than yesterday's
speed for 10 houra, How much
distance cid ne cover 7

(&) 180km (B} 180 km

{G) 140 km (L) 130 km

{E} Mene ofthese
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48,

49,

Cne of the angles of a parallelo-
gramis 35°. What will be the sum
of the largest angle and twice the
smallest angle of the parallelo-
gram ¥

(A) 219°

(B) 208"

(C) 215"

(D) Cannot be determined

{E) None of thase

COut  of the following fractions
which one is the second lowest 7

a.ﬁ,?.ﬁ,ﬁ
5 11 18 16 11

] 7
® 5 ®) 75
© 3 (D) 15

(E) MNone of these

. Salish bought an article and sold

it for ¥ 4,550 which is 30% more
than the original price. What is
the original price of that article 7
(&) T3500 (B) T 3800

(Cy T3600 (D) T3400

(E) MNorne of these




ORIENTAL BANK OF COMMERCE CLERK EXAM (Numerical Ability)SOLVED QUESTION PAPER 2011

AAAAAA

Answers: Numerical Ability

1 | (D) 26 | (A)
2 | (E) 27 | (D)
3 | (A) 28 | (C)
4 | (B) 29 | (A)
5 | (C) 30 | (D)
6 | (A) 31 | (B)
7 | (D) 32 | (A)
8 | (B) 33 | (0
9 | (E) 34 | (D)
10 | (B) 35 | (C)
11 | (D) 36 | (D)
12 | (C) 37 | (E)
13 | (A) 38 | (E)
14 | (C) 39 | (0)
15 | (C) 40 | (A)
16 | (B) 41 | (B)
17 | (B) 42 | (A)
18 | (C) 43 | (E)
19 | (A) a4 | (E)
20 | (E) a5 | (€)
21 | (A) 46 | (D)
22 | (B) 47 | (A)
23 | (E) 48 | ()
24 | (D) 49 | (B)
25 | (D) 50 | (A)




